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x

x


 2

2

9
  ;   dx

x

x


 28

3

 . 
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     1.  Найти интегралы 

 

            
 22 1)(arcsin xx

dx
  ;     dxxarctg 12 ;    


dx

xx 4

1
 ;    dx

x

xx
 



1

2
3

5

 ; 

 

            dx
x

x
 4

3

cos

sin
 ;    




dx

xx

x
2)3(

3
  ;    x

dx

2sin45
 . 

 

     2.  Не находя интегралов, указать наиболее рациональные способы интегрирова- 

          ния 

                  dx
x

2
sin 2  ;   dx

x

x
 



1

1
2

3

  ;   dx
x

x


3 3

2

1
  ;   dx

xx

x






225

118
 . 
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